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6667
B. Sc./B. Ed. Part — I (Integrated) Examination, 2019
PHYSICS - 11

(Oscillations, Waves & Acoustics)

Time: Two Hours
Maximum Marks: 40

PART - A (@7s — 3)) [Marks: 8]
Attempt any four question.
The answer to each question should not exceed 50 words.
Each question is of 2 marks.
P FIV o7 PIoTT | GAF J97 BT GV 60 TG & EF T &/
g% 97 2 3 BT &/
PART - B (Gvs — §) [Marks: 12]

Answer any two questions out of three questions.
Answer should not exceed 250 words.

Each question is of 6 marks.

AT 7ot  H BIS 1 gIT Hiforv/
goT T GV 250 k) W 3Rk 7 &/ YD JIT 6 3B HT &/
PART - C (g7s — &) [Marks: 20]

Attempt any two question.

Answer should not exceed 300 words. Each question is of 10 marks.
TS & e PIfoTY | FAF FI7 P FI¥ 300 =] W fEF T &/
&% J97 10 b BT &/
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PART - A / gvs —

Q.1 Attempt any four questions-
BIg IR U DITSTU—

(1) Explain coupled oscillators with examples.

GG leTeh Bl FEATERYT D W1 W BIfSTY |

(1)) What are the nodes and antinodes in stationary waves?

U ORI | fARde der uRue T 87

(ii1) Calculate degrees of freedom of a one-dimensional simple harmonic oscillator.

U fIHI AR AT aleid B WAl Bl DIICAT B T DI |
(iv) Define decibel.

ST B aRYTT IaT8Y |

(v) Letw = A sin (%), then find the group velocity.

2

Hﬁw=ASin(ka),ﬁﬂH§a‘T§Wﬂ%ﬁﬁl

(vi) The lighter used in kitchen is a transducer, explain.

AR H B ST Tl Iodaldh (AT8ey) Udh SIASER &, FHssy |
(vii) Write Fourier expression of current in a full wave rectifier.
gof TR fAseahRl # aRT &7 i s fotlRed |

(viii) Explain the principle of superposition of waves.

TR & JIRYUT & RAgid o FHsmsY |
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Q.2

Q.3

Q.4

Q.5

Q.6

Q.7

PART-B / s — ¢

Calculate total energy, power dissipation and quality factor of a damped harmonic

oscillator.
3raRfraa At At &I Hotl, Afaderd Ua faRIydT Tories &1 T DI |

Elaborate construction and interpretation of chladni’s figures.

Fersl FEl &1 fFeUvT Ud R Hifow |
What do you understand by acoustic design of a hall? How can you obtain optimum

reverberation in a hall? Explain reverberation time.
UH Bl & P wI—gT gIRT 3T T FHST 87 MY U Bl § gtedq ey & ura
PR ghd ¢ Ufqeafy bl b AH3sY |

PART-C / @vs — ¥

Describe transverse oscillations in coupled oscillators and find the cut-off frequency.
YT QD H UL Il D] ARAT DI Td 3fcieh ART AT DI |

Expression of a transverse wave is -

y (x,t) =4sin(62.8t—0.31x+ 2.5), where x and y are in cm.
Calculate amplitude, frequency, wave velocity, wave length and wave number, calculate

the maximum velocity also.

Rl aTuRe AT &1 TS & —

y(x,t) = 4sin(62.8t—0.31x+2.5)

TRl x T yem. H 2|

3T, AT, TRT 9N, TR T TR FAT Dl TUMT DI | 3TABTH 9T BT AT 70T
BT |

Determine the ratio in the intensity of reflected and transmitted sound waves at a

boundary between two media.

] A & 19 IRiafid Ud IR eafsy aRal @l deadr | srgurd S alford |
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